
  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

01/00   

 
 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

Items Supplied > 

4 - 5/16" x 3/4" Bolts  
4 - 5/16" Nuts     
4 - 5/16" Lock Washers 
1 - Steel Spacer 
1 - 8mm x 35mm Bolt 
1 - 8mm Flat Washer 
1 - 8mm Spring Washer  
 

Application >

ACE 1100 95-99 

Instruction Manual > 

1. Hold your Freeway Bar into position so that the brackets at the top with two holes in it aligns with the two holes 
up by your steering head.  Note where the bottom mounts will bolt into place.  Remove the lower bolts from the 
freeway bar bottom mounting position. 

 
2. Drill out the two existing holes at the top of your frame on both sides using a 5/16" drill bit.  Bolt the top mounts 

into place using the supplied 5/16" bolts, lock washers and nuts.  
 
3. Bolt the left side of the freeway bar into place with stock bolt and torque to factory specifications. 

 
4. Right Side:  If you are using the freeway bars with your stock foot pegs, place the supplied spacer in between 

the bottom mount and the frame.  Use the supplied 8mm x 35mm bolt, 8mm lock washer and spring washer and 
tighten to factory specifications. 

 
NOTE: If you are using the freeway bars in conjunction with Cobra Floorboards, you do not need to use the 

supplied spacer.   
 
Cobra Freeway Bars add style to your motorcycle.  They are not designed to withstand a serious impact and 
may not protect you and/or your motorcycle in the event of a crash. 
 

 01-1130 Page 1 of 1


